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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP4 0
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P4

BYE) | GEBRAK ) | ERE(EA/K | EREE (/R [ XS R

08:35 283 150.0 0.588 F|(  FiHAe08:35 KREFEF (RAERE)
09:25 283 150.0 0.588 & FiHfe09:25 KEIEF (KRFEERESE)
10:20 283 150.0 0. 588 F  FEAe10:20 KEIEFE CGRAMFESE)
11:10 283 150.0 0. 588 & FiHfe11:10 KRFIEF CGREAERKS)
11:55 283 150.0 0. 588 5 FhHAe11:55 KENFEF CGRAMEEE)
12:40 283 150.0 0. 588 5| THA@12:40 KENIEF CGRAMEREE)
13:25 283 150.0 0. 588 5| FHA@13:25 KENIEF CGRAMEEEE)
14:10 283 150.0 0. 588 sl FHEA@14:10 KRENFEF CGRAMEEEE)
15:00 283 150.0 0. 588 5| FHEA@15:00 KENFZEF (CGRAMEEEE)
15:55 283 150.0 0.588 5| FHAe15:55 KEIEFE CGRAFESE)
E23t1]2830.0 (100%) 1500. 0 #2333 %EC: 2080.0, PH: 6.4

FHERECE (2132.0 vs 3433.0) i d5




FRV (ml plant-1)

ET (ml/hr/plant)

P4 0, Day=65 (2025-06-08)

1 9\Kb§$g,ET - VI, V0, FVI, FVO, FRV, ad jFRV, ET

60

00

00

optEC0=2600. 0, setECB=2080.0

0.2~

optPHO0=6. 5, setPHB=6. 4

908 -

200

100 A

1.0

i
1
1
1
10065 01:55: ET=1312 Fg=1500. 0 Ro=344.0
1
1
1
I
1
1
1

0 1 2 3 4 5 6 7 8 9 10 11 12 13

2000

- 1500

- 1000

cumET (ml/plant)

- 500

15

16

17

18

19

20

21

22

23

0.8 -

BE | A5 | @ | 5 | B5 | AE | 65 | RE | BE | A5 | @& | BE | BB | AR

E3
B

=
B

£33
B

E3
]

E3
B

=
B

£33
B

E3
B

E3
B

0.6 1

0.4+

0.2~

0.0

750

500 ~

250 -

_obs', 'PPFD obs'] is missing

A A Warking:

25 -

20 A

15

"To_obs'] is missing

90
80 -
70

60

50 -

—— RH _Warning: col ['RH obs’, 'RHo obs’'] is miss]|

0.2 0.4 0.6

0.8

1.0



hour

:00 -

140
:45
140
125
110
155
140
125
110
:00
:00

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

@f%$
- %
%

%

%



P4

BfiE) | GEBATK (R)) | EBE (EH/fK) | ERERE (B/R) | XS R

06:55 278 150.0 0.588 F  1BRi&e06:55 Bal (RAEREE)
07:40 278 150.0 0.588 El 1BRi&@07:40 Bz (GREAEREE)
08:45 278 150.0 0.588 Sl {Rige08:45 B (RAERSE)
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13:25 278 150.0 0.588 F BRige13:25 Bz CGRAEREESE)
14:10 278 150.0 0.588 Sl Rige14:10 B3 (RAERSE)
15:00 278 150.0 0.588 F BRi%e15:00 Bz (GRAERESE)
16:00 278 150.0 0.588 El 1BRi&e16:00 Bz (GRFAEEE)
=it 3336.0 (12:%) 1800. 0 32 KEC: 2080.0, PH: 6.4

EORGEBRTC R IRIE R RN (45 vs 278.0))
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